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General Instructions :
The question paper comprises of two sections, A and B. You are to attempt both the sections.

All questions are compulsory.

There is no overall choice. However, internal choice has been provided in all the three questions
of five marks category. Only one option in such question is to be attempted.

All questions of section A and all questions of section B are to be attempted separately.

Question numbers 1 to 4 in section A are one mark questions. These are to be answered in
one word or one sentence.

Question numbers 5 to 13 are two mark questions, to be answered in about 30 words.
Question numbers 14 to 22 are three mark questions, to be answered in about 50 words.
Question numbers 23 to 25 are five mark questions, to be answered in about 70 words.

Question numbers 26 to 41 in section B are multiple choice questions based on practical
skills. Each question is a one mark question. You are to choose one most appropriate response
out of the four provided to you.

An additional 15 minutes time has been allotted to read this question paper only. During
this interval you are not to write any thing on the answer book.
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SECTION - A
1.  Define 1 W of power. 1
2. Why is air called breath of life. 1
3.  When is work done by a force zero. 1
4. How is CO, fixed in the atmosphere. 1
5.  Calculate number of moles in 34 g of NH, 2

(Given atomic massof N = 14u; H=1u)?

6. (a) Give a difference between lizards and snakes. 1

(b) Name the type of nutrition in fungi. 1
7.  Why is a bucket of water lighter when in water than when it is taken out of water. 2
8.  Draw a graph showing a person with soft and loud voice. 2
9. How do forest play an important role in maintaining water cycle. 2
10. Write chemical formulas of : 2

(a) Sodium Carbonate
(b) Ammonium Chloride

11. Thallophyta, bryophyta and pteridophyte are classified as cryptogamae whereas 2
gymnosperms and angiosperms are classified as phanerogamae, why ?

12. (a) Differentiate between upthrust and weight 1
(b) When does an object float or sink. 1

13. Name the two ways of preventing water pollution. 2

14. To which group do the following organism belong and give one reason for each. 3
(a) Cyanobacteria (b) Euglena (c)  Ulothrix

15. Calculate number of atoms in 120 g of Ca : 3

(atomic mass of Ca = 40 u)

16. (a) What is immunization. 1
(b)  Categorise the following into acute / chronic / infectious / non infectious diseases : 2
typhoid, TB, GOITRE, Elephantiasis.
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Define the term molecular mass.
State and explain law of conservation of mass with example.

A truck and a car are running with same velocity. Which of the two has less
kinetic energy ?
Give an example of electrical energy converted into light energy.

State a condition for an echo to be heard.
Bats cannot see then how do they catch their Prey.

Give cause and remedy of :

(a)

Hepatitis (b) AIDS (c) Malaria

A sound wave travels at a speed of 339 m/s * if the wavelength is 1.2 cm, what is the
frequency of the wave.

What are the different means by which infectious diseases can spread.

(a)

The K. E of an object of mass m, moving with a velocity 5 m/s is 25 J. What will
be its K. E when its velocity is doubled and tripled.
An object of mass 12 kg is at a certain height above the ground. If the P. E of the
object is 480 ], find the height at which the object is w. r. t the ground.
(Given g = 10 m/s?)

OR
Define K. E and drive the expression for K. E ?

A man weighing 70 kg carries a weight of 10 kg to the top of tower 100 m high.
Calculate the work done.

Write the symbol and name of the element having 14 proton.
Complete the table.

Element [Atomic No|Mass No| Proton | Neutron

Cl 17 - - 18

Si - 28 - -

F - - 9 10

—~
Q
~

Give one draw back of Rutherford model.

OR
The average atomic mass of a sample of an element X is 16.2u. What are the
percentage of isotope 19X and 18X, in the sample.
On the basis of Thomson’s model of an atom explain how the atom is neutral as
a whole.

Draw nitrogen - cycle.
Why step farming is common in hills.
OR
Differentiate between Biodegradable and Non biodegradable substances.
How is acid rain causing harm to ‘Taj Mahal'.
What is Smog.
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SECTION - B
26. Non - flowering plants belongs to : 1
(a) Cryptogam (b) Phanerogams (c) dicots (d) monocots
27. The correct way of reading the liquid level is shown in : 1

(@) figA (b) figB (c) figC (d) figDh

28. While determining the density of copper piece using spring balance and a measuring 1
cylinder Nitin carried out the following procedure :

(i) Noted the water level in the measuring cylinder without the copper piece.
(i) Immersed the copper piece in the water
(iii) Noted the water level in the measuring cylinder with the copper piece inside it.

(iv) Removed the copper piece from the water and immediately weighed it using a
string balance.

the wrong step in the produce is :

(a) stepi (b) stepii (c) stepiii (d) stepiv

29. Form measuring cylinders with different least counts are shown in fig A, B, C and D. 1

The most suitable cylinder for determining the volume of a cube of side nearly 1 cm is :

—=1GmL. g:lﬂ. —10mL [B ~10mL BJC :ﬂ)ml. [5
= -9 -9
- —6 {- B
L s
@) A |- (b) B € C |- (d D ]z
30. Which of the following is not an amphibian : 1
(a) Sea - anemone (b) Frog (c) toad (d) Hyla
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31. Three students A, B and C determined volume of a solid by immersing it in water in the 1
over flow cans set up as shown. The result obtained will be wrong for.

e e
I EEFEEEEEN

=

N

Pl

1
(a) student A (b) student B
(c) student C (d) all the three students.
32. The correct experimental set up for determining the mass of a solid in water is shown 1

in fig :

33. The correct position of the ear of the observer is shown in : 1
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34. Non - green saprophytic plant is : 1
(a) Marsilea (b) Marchantia () Paramecium (d) Rhizopus
35. When a body sinks in a liquid the weight of the body is : 1

(a) More than the volume of body
(b) Less than the volume of body
(c) Less than the buoyant force
(d) More than the buoyant force

36. Which of the following show aquatic adaptation. 1
(a) Snake (b) fish (c) Bacteria (d) toad
37. The wave pulse can be produced on a rope whose one end is fixed : 1

(a) By giving a single jerk to the other end.
(b) By giving more jerks to the other end.
(c) By giving continues jerks.

(d) Either (a) or (b) or (c)

38. To observe and compare the pressure exerted by solid cuboid in its up right position, 1
student A placed the cuboid gently on the loose sand while B placed it on the surface of
table top. Who will observe the exerted pressure by cuboid easily ?

(a) Student A only (b) Student B only
(c) Both student A and B (d) Neither A nor B.
39. Cells of bacteria contain : 1
(@) cell wall (b) chromatin fibre
(c) Dboth (a) and (b) (d) may be (a) or (b)

40. In the experiment for determining the velocity of a pulse propagating along the length 1
of string we prefer a long thick cotton string :

(a) Because pulse can not be formed in a thin short string.
(b) Because cotton string is cheap and easily available
(c) So that pulse move through it easily
(d) So that time taken by pulse to move from one end of string to other may be
accurately determined.
41. Which of the following is a warm - blooded animal : 1
(a) Liver - fluke (b) Human being
() Draco (d) Salamander
-00o0-
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Qe - A
1. 1 W ¥t &l qRifea sifs | 1
2. g Siad i WG i FHeand ¢ 2 1
3. Tt 91 gr fohan o e 9 e B © 2 1
4.  FWEREH CO, H¥ feerk Bt 82 1
5. 34 g NH,H Hiddl ol &A1 J1d w4 2

(fezn T &, N & W] g9 = 14u; H = 1u)

6. (a) ToUmferl qom |G | U <R =Y | 1
(b) hRSTE H YY1 1 AW o | 1

7. O W O ST, U R STeX ookt Udd Bl §, STUEThd S 39 UM 9§ ol e g1 i 2 2

8. Tl =afs =1 Yo &af qen §g =i <9Iid g U aAmed | 2

9. S =% I 9 T H o7 foRg yRR g yfteet e €2 2

10. RS g5 ford : 2
(a) Wifead HEie H (b) STHIFMEM FARES I

11.  JSREe, STIwEe qo SRETREer i M qen e g tfseerd o i § anfid 2
ERIKIR IR

12. (a) SHAEE 9 T YR H <R Hifed | 1
(b) IS o el AL AT gawt & 2 1

13. 1 YGUUT Wi Ik o &1 ST e | 2

14. frAfafeq Sta fora vt 9 T=f+a § a1 9o 1 Th-Th SR faal | 3
(a) a-zRa T (b)  Frer (c) ety

15. 120 g Ca H TRHI[S] 1 H&A J U | 3
(Ca &1 WA Ze99H = 40 u)
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16. (a) YRR FAMT? 1
(b) Tr=Afafaa = e/ Sehifere / Hshreh/ STHH™S WM H 407 dg HIT : 2
TAEES, e, MR, TWahtesfad |
17. (a) oTfveeh geHM ol IRHTT e | 1
(b) 3R Hied SEHM HE o T ol 98 | 2
18. (a) U <o A1 Uoh R HHM o1 9§ AN § | $TH fhgeh! Tfast il 6| gFT 2 3
(b) ToEga il 1 YeRteT Sstl H SRR I Teh IS8 Q|
19. (a) forslt ufqeaft &1 g o foaw T o e | 1
(b) EHIEE W & Hehd, I I8 ST IR HH wehed & 2 2
20. R qA1 M Fare 3
(a) Tifern (b) AIDS TEH (c) Tafa
21. T M 1339 m/s Fi A1 9 A 8, A6 WA S 1.2 cm 8, T8 T 1 gra |ner? - 3
22. HHHE M % Ther o fafie alics @ € 2 3
23. (a) foFel m SoT9M &1 9% 5 m/s & AT G TGHH T, T 1fast it 25 ] 1 ST& AT I AT
e fogen e S & < wiferst Seott R BT 2 2+3=5
(b) 12 kg SN i i I&] Yot ¥ F8 SR W ¢, Al awg ! feufast S=i 480 ] &
THH! gealt ¥ 9% 919 FA | (g = 10 m/s2)
srerar
(a) TSt STt oht aRren fere@l qen Tfast St o fora =isten Tenfud | 3+2=5
(b) € 70 kg ¥R 1 ARG 10 kg ¥R AH 100 m 3 TR R Fedl § 1 6 T w6t
UM HIFST |
24. (a) 14 9IEH 9l Tl K1 Yeiteh a9 fora | 1
(b) ERO K K 3
oo | I SHHI | SIHE S| HIe A
Cl 17 - 18
Si 28 - -
F 9 10
(c) THIE HIeA &l THh FHHT fardl | 1
srerar
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(a) Torefl Tcet & A X o1 TTH TTHI] YR 16,2 u | 39 T H 10X, dorn 18X, greenfari a1 3

EIGNGRIRISEET IS
(b)  UTHEA % ULA] TS & YR T T8 H o TAT] IS B 7 2
25. (a) SIS =h 1 @ AR 4
(b) TRTS H TG AT Vel A W R ? 1
CPe))
(a) S FERTo T STSafTeieno Tarel H $T<R T8 Hifs | 3
(b) 3T o TS Heel' Rl K I Tga W ¥ 2 1
) gA-HBIFE? 1
Qe - 9
26. forT-qo7 At e i © 1
(a) THwrm (b) HRAH CERESISER (d) TSSO
27. SAdc o Ui 1 Tel qlrehT femmen e 1
[ ]
(@) f==9A (b) T==IB () f==C (d f==D

28. Tafae = FHMICR Jen qen Arush fafeiel &1 Jam wik did & Ihs & e fuf & fo 1
Frefafaa fafy stoarh -

() fom d19 o e % O faferet | o qat | fEan

(i) O H TR (i) T ZHe gaA |

(iii) AUk fafdex ¥ 919 & He & WY I T 9 A1 R |

(iv) T | R % Tohe ohl TRt Jd FAMIGR Joll W 8T AR foran|

fafud Toa e
(a) Ui b) Wi () WEiii d) Wiv
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29. fafi eTeqaw W19 % 9R A9 fafdel A, B, C AN D o ¥ f@® W™ 81 1 cm 0 amd 1
B 1 A R0 S & ford wod U A fafael € ¢

(@) A |- (b) B () c______ (d D _
30. 791§ 9 hF TA-Tre] = 7Rl 2 1
@) WEE-TEA (b)) Tew (c) 2re (d) @rEen

31. IS U 1 YANT ek 9T H Soldl §U 319 &l STFA9 1A i o AL 9 S A, BAaC - 1
F for # fe@me S17arR v 9 fohan | 9w aRom TTerd 2rm |

SAREEE

T :
P L = S
(a) BHAAH (b) BEB
() BECH (d) | I B H
32. Tl 3 & Ut H geaum i *g W@ v fee fom | <wten mn g 2 1

i
1F
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33. 4T % &M i TEl feafq foem o o gwih e 22 1

@@ A (b) B @ C d D

34. 31-Ra gargsiel dren ¥ 1
(a) TREI T (b) HeRfemRT (c) THITEH d) TESTE

35. 9 IS 9% g9 H Gadl § I a%] I YR : 1
(a) & A 9 Al (b) TIE] % AT § FH
(c) ST ot § FH (d) ScqeTEA o o 3T

36. fAfafEd § ¥ & S sTIHad o fCEm g ? 1
(a) HM (b) (c) Sfremy (@ e

37. e W o1 foe T f90 fer €, § T T-968 30 ot T 9o © 1
(a) T R A TH FEH T b) TR R W ifuF w2 T
(c) TFIGR $Eoh ST (d) i (a), (b) T (c)

38. 39 BATH g HW it ¥ | TR T S1el ohT Y01 R 201 ol i & T, s A=W 1
%! 9 ¥ X0 T @ Fafh SHE B A A hl T8 oh W WM 5 R M T S Fl A
ST 9 Feror s ?

(a) had BH A (b) kel BT B
(c) THiBEATANB (d) SR H ¥ HE T

39. SERINAT i HIHT T € 1
(a) nifereRT fufa (b)  ShrAfHA a=g
(c)  (a) T (b) S (d) (a) 3 (b)
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40. TR Y TR THA HT oc] TS h1 A7 Ui I 91l T H gH ol Jidt wus i 1

MAHFHAT A T
(a) ik qael Sl SR B TS TE o Fehell |
(b) ik HIS HI S AT qA A H ST T |

c) difeh TS 3HY G § Tfd X Tk |
(d) R TS SR F Th T A e F9 e TIfd K 1 o w6l 6@ g 9 i fea

—~

ST TR |
41. Frfafea § 9 w9 99 ard (7 ad) S e ? 1
(a) TR HH (b) HIA (c) gl (d) FeHet
-00o0-
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